SPOTTING OUT THE EMBEDDED
FIGURE

EXERCISE 20A

For SSC GD & MTS Exams

Direction (1 to 11): Which number will replace the question (c) (d)

mark (?) in the following series? N\
1 N
| A
SSC MTS 2/11/2021 (Shift-3) }
(a) (b)
)
)

SSC MTS 27/10/2021 (shift-2)

(b)

(c) (d)

SSC MTS 02/11/2021 (Shift-2)

$SC MTS 27/10/2021 (Shift-1)

(a) E
@ [\ (o)
(c) (@) D\
:
(a) 1\ \;

3.

(c) (d)

SSC MTS 27/10/2021 (shift-3)

(b)




2 B SSC Reasoning

6.

SSC MTS 26/10/2021 z(Shift-3)

(@) . s F\(_I
||

@& &

7.
SSC MTS 26/10/2021 (Shift-2)
(@) Q @ \,7
() ‘ (d)|—\l
8.
SSC MTS 26/10/2021 (Shift-1)
(a) (b)
I T <
< >
(c) (d)
\/
9.

$SC MTS 22/10/2019 (Shift-2)

PN

~

(d)

SSC MTS 22/10/2021 (Shift-1)

(b)

$SC MTS 22/10/2021 (Shift-1)

(b)
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SSC MTS 20/10/2021 (Shift-1)

(b)

0

SSC MTS 18/10/2021 (Shift-2)

(b)

i

—
o]
=

=

SSC MTS 18/10/2021 (Shift-1)

(b)

]
x:
—~
o
=

&

SSC MTS 14/10/2021 (Shift-1)
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WD <

N
U

(b)

(d)

SSC MTS 13/10/2021 (Shift-3)
(b) /AR

SSC MTS 13/10/2021 (Shift-2)

(b)

SSC MTS 12/10/2021 (Shift-3)

(b)
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19.

20.

21.

22.

(a)

NG

SSC MTS 12/10/2021 (Shift-2)

(b)

TR,

SSC MTS 11/10/2021 (Shift-3)

(b)&
(@)

$SC MTS 11/10/2021 (Shift-2)

(b) <

(d)

24,

SSC MTS 22/08/2019 (Shift-3)

(b)

SSC MTS 22/08/2019 (Shift-2)

(b)

20

SSC MTS 22/08/2019 (Shift-2)

(b)

SSC MTS 21/08/2019 (Shift-2)

(b)

SSC MTS 21/08/2019 (Shift-1)



28.

29.

T

(c)

SSC MTS 20/08/2019 (Shift-2)

(b) | |

SSC MTS 20/08/2019 (Shift-1)

(b)

SSC MTS 19/08/2019 (Shift-3)

(b)
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30. %
SSC MTS 19/08/2019 (Shift-1)

(a) (b)

7[5

(c)
3l t
SSC MTS 16/08/2019 (Shift-3)
(a) (b)

v i
2B

SSC MTS 16/08/2019 (Shift-2)

(a) (b)

8 B

33.

SSC MTS 16/08/2019 (Shift-1)
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(@) (b) ©) 117 (d)
J _—

(c) (d) 35.

SSC MTS 14/08/2019 (Shift-2)

. /T (a) ] (b)
[
[
I |

SSC MTS 14/08/2019 (Shift-3)
@ Bim = <
[ |
SOLUTIONS

1 (d)<> 6. (b)
_I
@

L

It is clear from the above question figure lies in It is clear from the above question figure lies in
option (d). option (b).
2. (d) 7. (d)
[ ] o
bl B It is clear from the above answer figure (d) is
It is clear from the above answer figure (d) is embedded in question figure.
embedded in question figure. 8 (a)

NI ;
<

It is clear from the above question figure lies in

It is clear from the above question figure lies in option ().
option (b).
4 () o (@
It is clear from the above question figure lies in
option (b). N It is clear from the above question figure lies in
5. (b) option (a).
10.  (a)

— 1 ©

£ 7s clear from the above answer figure (b) is
embedded in question figure. It is clear from the above question figure lies in
option (a).




(a) \
N

/

It is clear from the above question figure lies in
option (a).

(d)

It is clear from the above answer figure (d) is
embedded in question figure.

(b)

It is clear from the above question figure lies in
option (b).

B

It is clear from the above answer figure (a) is
embedded in question figure.

(b)

It is clear from the above question figure lies in
option (b).
(c)

It is clear from the above question figure lies in
option/(E’);
(b) |

I
]

. \/ . .
It is clear from the above answer figure (b) is
embedded in question figure.

(b)

It is clear from the above question figure lies in
option (b).

20.

22.

23.

24.

25.

26.

27.

(a)
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W/

It is clear from the above question figure lies in
option (c).

It is clear from the above answer figure (d) is
embedded in question figure.

It is clear from the above answer figure (a) is
embedded in question figure.

V4

/\

It is clear from the above question figure lies in
option (b).

N

It is clear from the above question figure lies in
option (b).

It is clear from the above question figure lies in
option (a).

It is clear from the above question figure lies in
option (b).

It is clear from the above question figure lies in
option (d).

It is clear from the above question figure lies in
option (c).
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28. (a)

It is clear from the above question figure lies in
option (a).

29. (b)

AN

It is clear from the above question figure lies in
option (b).
30. (a)

It is clear from the above question figure lies in
option (a).
3. (b)

32.

33.

34.

35.

It is clear from the above question figure

option (b)

(b)

It is clear from the above question figure

option (b).

It is clear from the above question figure

option (b).
() [T T

It is clear from the above question figure

option (c).

(0) — [
|

It is clear from the above question figure

option (b).

EXERCISE 20B
For SSC CHSL Exam

Direction (1 to 11): Which number will replace the question
mark (?) in the following series?

1.

SSC CHSL 09/06/2022 (shift-3)

(a) (b)

]
= H

SSC CHSL 09/06/2022 (Shift-2)

(G)L I | (b) ’_‘

L]

(c) |

-

_
L
=

s

lies

lies

lies

lies

lies

n

n

n

n

n

SSC CHSL 12/08/2021 (Shift-3)

(b)

SSC CHSL 12/08/2021 (Shift-2)



(a)

(c)

(a) e —

(c) —

(a)

(c)

SSC CHSL 11/08/2021 (Shift-3)

(b)

SSC CHSL 11/08/2021 (Shift-2)

(b)
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(O)j

(C) @ :

SSC CHSL 10/08/2021 (Shift-3)

(b)

(A

Select the option in which the given figure is embedded

S~

f

SSC CHSL 10/08/2021 (shift-2)

(b)

[

SSC CHSL 09/08/2021 (Shift-3)

(b)
~_ T L
P
[

(d)
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'

(a)

(c)

s
[

SSC CHSL 09/08/2021 (Shift-2)

(b)

SSC CHSL 06/08/2021 (Shift-3)

12
2

SSC CHSL 06/08/2021 (Shift-2)

(b)

SSC CHSL 06/08/2021 (Shift-1)

o
\I_Lr\)

—
Q
=

iz

—
Q
=

28

e

SSC CHSL 26/10/2020 (shift-3)

(b)

/

SSC CHSL 26/10/2020 (Shift-2)

(b)

P|IE

\

SSC CHSL 26/10/2020 (Shift-1)

(b) §
(d) @



(c)

(a)

(c)

(a)

(c)

P

&

20.

SSC CHSL 11/07/2019 (Shift-3)

(b)

7%

SSC CHSL 11/07/2019 (Shift-1)

(b)
(d) %

SSC CHSL 10/07/2019 (Shift-3)

(b)
(d) g

$SC CHSL 10/07/2019 (Shift-2)

21.

22.

23.
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3

(b)

ke

Sy

&

AD

$SC CHSL 09/07/2019 (Shift-3)

(b)

<

SSC CHSL 09/07/2019 (shift-2)

(b)

A (=] 12| |

A

SSC CHSL 08/07/2019 (Shift-3)
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(a) (b) (a) (b) |
J
(c) / (d) (c) (d)
I
24, .
SSC CHsL 08/07/2019 (Shift-2) $C CHSL 05/07/2019 (shift-1)
(a) (b) (@) (o)
= o) o =
(c) (d) ©) @
,] _J L | -
[ 1
25.
% 28.
SSC CHSL 08/07/2019 (Shift-1)
(@) — (b) o SS(E)CHSL 04/07/2019 (Shift-3)
© @ — (c) | (d)
. |
29.
26.
SSC CHSL 04/07/2019 (Shift-1)
SSC CHSL 05/07/2019 (Shift-2)




30.

(a)

Hin

(c)
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CHSL 03/07/2019 (Shift-3)

(b)

SOLUTIONS

1.

(d)

(b)

It is clear from the above answer figure (d) is
embedded in question figure

—

It is clear from the above answer figure (b) is
embedded in question figure

(b)

(c)

=1
1

It is clear from the above question figure lies in
option (b).

It is clear from the above question figure lies in
option (c).

It is clear from the above question figure lies in
option (b).

6.

(a)

(c)

()

&

=

It is clear from the above answer figure (a) is
embedded in question figure

It is clear from the above answer figure (c) is
embedded in question figure

It is clear from the above question figure lies in
option (d).

]

It is clear from the above question figure lies in
option (b).

It is clear from the above question figure lies in
option (c).

It is clear from the above question figure lies in
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12.

20.

21.

option (c).

(c)

It is clear from
option (c).

HN

It is clear from
option (c).

the

the

It is clear from
option (a).

/N

(b)

It is clear from
option (b).
(a)

It is clear from
option (a).

It is clear from
option (c).

It is clear from

option (c)

It is clear from
option (c)

It is clear from
option (d)

It is clear from
option (d)

the

the

the

the

the

the

the

the

above question figure

above question figure

above question figure

above question figure

above question figure

above question figure

above question figure

above question figure

above question figure

above question figure

lies i

lies i

lies i

lies i

lies i

lies i

lies i

lies i

lies i

lies i

22.

23.

24.

265.

26.

27.

28.

29.

30.

It is clear from
option (a)

It is clear from
option (a)

—

It is clear from
option (c)

It is clear from
option (b

AN

It is clear from
option (c)

It is clear from
option (d)

It is clear from
option (c)

S

It is clear from
option (c)

N

It is clear from
option (b)

the

the

the

the

the

the

the

the

the

above question figure

above question figure

above question figure

above question figure

above question figure

above question figure

above question figure

above question figure

above question figure

lies

lies

lies

lies

lies

lies

lies

lies

lies

n

in

in

in

in

n

in

in

in
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EXERCISE 20C

™

(c)

@l\

7/

A

1

=

0%

(a)

K

SSC CGL 21/04/2022 (shift-3)

(b)
(d)

d

SSC CGL 21/04/2022 (Shift-2)

(b)

SSC CGL 20/04/2022 (Shift-3)

(b)

For SSC CGL and CPO Exams

5
ir;

P

=

2

>

i

)

/\

SSC CGL 20/04/2022 (Shift-2)
(a) @ (b)

A

SSC CGL 19/04/2022 (Shift-3)

(O) E (b)
m

D[

SSC CGL 19/04/2022 (shift-2)

(a) (b)

RS
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7.

%_

(a) \i i

(c) =

s

(a)

J

(a)

SSC CGL 24/08/2021 (Shift-3)

(b)

SSC CGL 24/08/2021 (Shift-2)

Y
(@ l@

SSC CGL 24/08/2021 (Shift-1)

(b)

SSC CGL 23/08/2021 (Shift-2)

(5
X

V<

SSC CGL 23/08/2021 (Shift-2)

(b)

SSC CGL 20/08/2021 (Shift-2)

(b)

=

allS

(d)

SSC CGL 20/08/2021 (Shift-1)

)]




LAV

SSC CGL 13/06/2019 (Shift-3)

(b)

S

$SC CGL 13/06/2019 (Shift-2)

QAT
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S
5
.

SSC CGL 11/06/2019 (Shift-3)

SSC CGL 12/06/2019 (Shift-2)

—~
O
N

(a) (b)

—
O
~
—
o
=

SSC CGL 11/06/2019 (Shift-2)
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20.

21.

22.

23.

1

(a)

(c)

(a)

(c)

SSC CGL 11/06/2019 (Shift-1)

SSC CGL 10/06/2019 (Shift-3)

(d) %7
T &

SSC CGL 10/06/2019 (Shift-1)

SSC CGL 07/06/2019 (Shift-3)

24.

25.

26.

(d)

SSC CGL 07/06/2019 (Shift-2)

S

SSC CGL 06/06/2019 (Shift-3)

$SC CGL 06/06/2019 (Shift-2)

(d) &
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27. SSC CGL 06/06/2019 (shift-1) | 29. SSC CGL 04/06/2019 (Shift-1)
(a) (b) (a) (b)
c d
(c) (d) (©) (d)
/
\VA
28 x SSC CGL 04/06/2019 (shift-2) 30. SSC CGL 04/06/2019 (Shift-3)
(a) (b)
o ¢ (@) (6)
(c) (d)
(c) (d)
SOLUTIONS
1. (o)& E 4. (b)
It is clear from the above question figure lies in It is‘ clear from the above question figure lies in
option (a). option (b).
2. (c) 5 (d)
>
It is clear from the above question figure lies in - ) ) o
option (c). It is clear from the above question figure lies in
3 (b) option (a).

s

It is clear from the above question figure lies in

option (b).

It is clear from the above question figure lies in
option (c).



20 m SSC Reasoning

7.

It is clear from
option (b).

It is clear from
option (a).

s

It is clear from
option (a).

It is clear from
option (a).

o

It is clear from
option (a).

Wt

It is clear from
option (b).

It is clear from the above answer figure (a)

above question figure li

above question figure li

above question figure li

above question figure i

above question figure li

above question figure li

embedded in question figure.

It is clear from the above question figure lies

option (d).

It is clear from the above question figure lies

option (d).

20.

21.

22.

23.

24.

It is cleor from the above question figure li
option (c

(c) \%

It is cleor from the above question figure li
option (c

(C) %f

It is clear from the above question figure li
option (c).

(c) -

A

It is clear from the above question figure li
option (c).

It is clear from the above question figure li
option (a).

It is clear from the above question figure li
option (a).

| |

It is clear from the above question figure li
option (a)

(a)

(c)

N
/

d
It is clear from the above question figure li
option (c).

(d)

It is clear from the above question figure li
option (d).



25.

26.

27.

(d)

(c)

(d)

It is clear from the above question figure lies in
option (d).

It is clear from the above question figure lies in
option (c).

It is clear from the above question figure lies in
option (d).

28. (b)

29. (d)

30. (a)
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It is clear from the above question figure lies in
option (b).

It is clear from the above question figure lies in
option (d).

It is clear from the above question figure lies in
option (a).



